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Please check that this question paper contains 24 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 23 questions.

Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
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question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  This question paper contains three parts A, B and C.
(ii) Part A is compulsory for all.

(iii)

There are two parts. Part B — Financial Statement Analysis and Part C -
Computerized Accounting. Attempt only one Part.

(iv) All parts of a question should be attempted at one place.
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aT - &%
PART - A
(AT GHT qT St % e araie)

(Accounting for Partnership Firms and Companies)

T 78 GEER & Ya91 T, Y91 o qay fefa-foeror § 29id & 9e= 999 99 @ @diH
11 o STAT H sl ST

(37) N fafaeH @ H |

(@) W WEER % S E |

@) R WERRT % S @ g |

@) T @ H |

When a new partner is admitted, the balance of ‘General Reserve’ appearing in the
Balance Sheet at the time of admission is credited to :

(a) Profit and Loss Appropriation Account.

(b) Capital Accounts of all the partners.

(c) Capital Accounts of old partners.

(d) Revaluation Account.

IS, RS qAT M Th HH o TEITR ¢ 77 3:2:1 % ST H o sied & | S8H 370
T HIe1eh ST o B H Teh TRIGR I 61 R T3 | I 210 3197 & fole e gt
qAT A WTHIT B ART AT | @I F A5 9o 6 [T s 6 T e 6t
yfafte M-l fafaisH @ § 2 &1 | 97 ST UhT T Tal € 9 370 STR o 99 |
FHROT JT |

Kajal, Neerav and Alisha are partners in a firm sharing profits in the ratio of 3 : 2 : 1.
They decided to admit Rajan, their landlord as a partner in the firm. Rajan brought
sufficient amount of capital and his share of goodwill premium. The accountant of the
firm passed the entry of rent paid for the building to Rajan in ‘Profit and Loss
Appropriation Account’. Is he correct in doing so ? Give reason in support of your
answer.

TH WRRR & FEHR W0 & W AT W B & Gad = & 9 | &
FITQTP[:

(3) A TTHRT TEUT HA el AEER & Isit @l | |

@) T WRRRI & UST @il § S [/ o fos S

@) I WERRT % ST @il H S 7 oy foet erua 7 |

@ 9 UERRI % S @ | S [ oy ot e | |
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At the time of retirement of a partner ‘Loss on Revaluation’ is debited :

(a) only to the capital account of the retiring partner.

(b) to the capital accounts of all the partners in their old profit sharing ratio.

(c) to the capital accounts of the remaining partners in their new profit sharing ratio.

(d) to the capital accounts of remaining partners in their old profit sharing ratio.

4, 39 @A FH AW oW FEH G RO % T % UvE ST INeE 99 W i
TN fohar STar € | 1

Name the account to which the ‘Balance of Debenture Redemption Reserve’ is
transferred after all the debentures have been redeemed.

5. &7 R T U 37T 1
(30 I W G T & o s wehar |
@) A 10% & Aahad g3 W g: FHifEa foHar ST @har € |

(@) 0T foRT T ST W ST&d i T RT3 SRS 3eehad a9 W ;- Friaa fomar ST wehar
T

® SWEH ¥ HE TRl

A forfeited share can :

(a) not be reissued at discount.

(b) be reissued at a maximum discount of 10% only.

(c) bere-issued at a maximum discount equal to the amount forfeited on the share.
(d) None of the above.

6. AY-B1 faf e @ g arv-eii 3 @’ | SFET ST | 1

Differentiate between ‘Profit and Loss Appropriation Account’ and ‘Profit and Loss
Suspense Account.’

7. O % U e H, ‘T foiiiees” YRI 9l o Tk MHAT & | Scare bl UishAr H I8
TRTERT GRETT & Sl HHRUE AT & | SIS ToTet U e & TolT I Ueh Thel elredt & ool
&35 o afeal & TR & e % oIt U W@ &5 IeTrdl & | HHEr 9ga 37T i W
TE & T AN & STiferhT G o foiu, faeoent gt o glawmatad o o fog, saEve 3 ush
TE IR THTS T e Al & | T ol STeeaehel & T A b @ BT 5 T 100
TeI% % 50,000 39T I TG T q7 T 50 U o 80,000, 10% 0TI bl TIHT A H
ot feram | 3

3T T FOTHAT o A o [T Seredes IS diatedt ST | T T 9ol @
Ter it ST T8 T GAST Sl TS T =@edr § |
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‘Nandan Ltd.” is a manufacturer of heavy machines in a town of Telangana. It follows
high standards of environment safety in the process of manufacturing.

The company runs a school to provide quality education and a medical centre to
address health issues of the resident of that area.

The company is doing well and is going to start a new manufacturing unit in
Jharkhand creating livelihood for people, especially those from disadvantaged sections
of the society. In order to raise funds the company decided to issue 50,000 shares of
% 100 each at par and 80,000, 10% debentures of I 50 each.

Pass necessary journal entries for the issue of shares and debentures. Also
identify any one value which the company wants to communicate to the society.

1 30, 2014 T T 20,000 % ik I SIEHT Th G & IRGEFET T 1,00,000 o | GEER
% TSI @ S W T 60,000 AT | MGl AT T 10,000 A TAT I TG AT | AR A B

T T 8% & AT 1A T GodishT IR 6l o SAIATT o 5hF % LR W T 60,000 fear
T &, A WH % 3T AT S TUET BT |

On 1% April, 2014 a firm had assets of ¥ 1,00,000 excluding stock of I 20,000.
Partners’ capital accounts showed a balance of ¥ 60,000. The current liabilities were
% 10,000 and the balance constituted the reserve. If the normal rate of return is 8%, the
‘Goodwill’ of the firm is valued at ¥ 60,000 at four years of purchase of super profit,
find the average profit of the firm.

AT feAmes 7 T 500 U & 7,000, 10% O i T 50 Uk & WiHaw W FriHa fmar
TST7eRT e 5 st < TvE 10% o HITHEH 0 BT 47 | TR &6 91dt o STER 37eET W
% 200 AT T €T W 4T |

10% SROTOET o 1A o 0T STedeh JsHTH=T At shirey |

Alok Ltd. issued 7,000, 10% debentures of ¥ 500 each at a premium of ¥ 50 per
debenture redeemable at a premium of 10% after 5 years. According to the terms of
issue, ¥ 200 was payable on application and balance on allotment.

Record necessary journal entries at the time of issue of 10% debentures.

1 3BIET, 2012 I Th FHEE! A T 100 TR % 4,000, 9% FOTH 1 FRIET 10% % 95 W o |37
IO T IMEA 10% o WITHIH O AT 41 | O ! ¥4l o SR 31 A9, 2014 ¥ &

Y HHH! Pl TWMER Uqad ol IR § 5T Yok 312061 G & §RT T 40,000 F FOTIAT
I ST T |

31 AT, 2014 H BT 7 Gl IR G IMET FH o T T 32,000 o FOTTA FI 56T
% 95 Ui ROTI 7 3 8,000 3 KUY hT 56T T 90 Ufd SROTYS TR | 56 9T T 1,000 hi 9T

FTIEE |
9% FROTTHT o e o [T STEwaeh AT Hlaredr iy |
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On 1*" April, 2012 a company issued 4,000 9% debentures of ¥ 100 each at a discount
of 10%, repayable at a premium of 10%. The terms of issue provided for the
redemption of ¥ 40,000 debentures every year commencing from March 31%, 2014,
either by purchase from open market or by draw of lots at the company’s option.

On March 31%, 2014, the company purchased for cancellation its own debentures of
the face value of ¥ 32,000 at T 95 per debenture and I 8,000 at ¥ 90 per debenture. The
expenses of purchase amounted to I 1,000. Record necessary journal entries for
redemption of 9% debentures.

11. 3T 91 T 9ERR 4 99 3:1 % 3 | o dfed & | J&ihl °§ @fd T 4,40,000 U
TUME AT <t | ST BT Ueh =71 WIEIRR =T 747 | 3T, A ael ST & e 747 ot 37T
2:2:1 9T | 4

ST 39T Ot o foT T 11,00,000 ST T @A WiHaH & 310+ 3797 % foiw smawash
TS AN | Y Sl @AM T JoAish T 2,50,000 fomam = o |

SURIKT AT % [T T ol ETehl § ST ST Hafteat sifse
Anu and Bhagwan were partners in a firm sharing profits in the ratio of 3 : 1. Goodwill

appeared in the books at ¥ 4,40,000. Raja was admitted to the partnership. The new
profit sharing ratio among Anu, Bhagwan and Raja was 2 : 2 : 1.

Raja brought ¥ 1,00,000 for his capital and necessary cash for his goodwill
premium. The goodwill of the firm was valued at ¥ 2,50,000.

Record the necessary journal entries in the books of the firm for the above
transactions.

12. TR, o9 Qe ST U H o 9IERR & 91 3:2:1 & UM § onT dfed & | 31 O, 2014

i 3T Terfa-foeroT e U o 4
LE e L) gt s
) )
3 foe 1,20,000 | ;T T 20,000
TRR 1,40,000 | ITR_R 1,40,000
HIH A 5% FOT 1,00,000 | 9T forct 70,000
T 1,80,000 | @i® 1,70,000
ECIE e 1,30,000
form 2,00,000 T 3o @ 1,20,000
Eoe) 1,20,000 T 2,90,000
3T 80,000 | 4,00,000
9,40,000 9,40,000
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12 S, 2014 I H 1 LT &1 T T RN Goi@ & AR 39 HoTEeh 1 - 3
qm:

(31) 3D TF H T I & & AN T IHH 90T S T0ET U 1 W gT a6t &
31T Y 3 3TTER OX <l ST |

(F) H S @ § STH 9T et o fsel Ji aut & el o % SF A o T 6
YR T 1 STRAT |

(@) e dF aui & oy 9 ;T 30,000 ; T 70,000 74T T 80,000 |
3Gk ToAIEeRT T WG e & [oTT e T ISt QI AR ISy |

Priya, Karam and Anna were partners of a firm sharing profits in the ratio of 3 : 2 : 1.
Their Balance Sheet on March 31, 2014, was as follows :

Liabilities Amount ) Assets Amount )
Bills Payables 1,20,000 Cash in hand 20,000
Creditors 1,40,000 Debtors 1,40,000
Karam’s Loan @ 5% 1,00,000 Bill Receivable 70,000
Reserve 1,80,000 Stock 1,70,000
Capitals : Investment 1,30,000
Priya 2,00,000 Advertisement
Suspense Alc. 1,20,000
Karam 1,220,000
Buildi 2,90,000
Anna 80.000 | 4,00,000 | lne
9,40,000 9,40,000

Karam died on June 12, 2014, and according to the Partnership deed his executors
were entitled to be paid as under :

(a) His share in the profits of the firm till the date of his death which will be
calculated on the basis of average profits of last three completed years.

(b) His share in the goodwill of the firm which will be calculated on the basis of two
years purchase of total profits of last three years.

(c) Profits for the last three years were : I 30,000, ¥ 70,000 and ¥ 80,000.

Prepare Karam’s capital A/c to be rendered to his executors.
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19,600
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(a)

Fill in the blank spaces in the journal entries given below :

Date

Particulars

Cr.®

Share Capital A/c. Dr.

_______________________ Dr.

To Share Forfeited A/c

To Share Allotment A/c

To Share First Call A/c

(Being 2,000 shares of I 10 each
% 8 called up issued at a premium of
% 2 per share forfeited for non-
payment of allotment of ¥ 5 per
share including premium and first
call of ¥ 2 per share)

Bank A/c. Dr.

To Share Capital A/c

(Being 1400 shares reissued for
% 19,600 as fully paid up).

Share Forfeited A/c. Dr.

To Capital Reserve A/c.

(Being profit on reissue of forfeited
shares transferred to capital reserve)

19,600

[P.T.O.



(b) Fill in the blank spaces in the journal entries given below :

Date Particulars F Dr. Cr.
® ®

Share Capital A/c. Dr. 80,000

To Share Forfeited A/c. | | | e

To Share first call A/c. 60,000

(Being 1000 shares of ¥ 100 each,
T 80 called up issued at a discount
of 10% forfeited for non-payment
of first call)

Bank A/c. Dr. 56,000
————————————————————— Dr. —mmmmee
Share Forfeited A/c. Dr.| | -

To Share Capital A’c. | | | -

(Being 800 shares reissued at I 70
per share I 80 paid-up)

Share Forfeited A/c. Dr.| | -

To Capital Reserve A/c. | | | -

(Being profit on reissue of forfeited
shares transferred to capital reserve)

67/1 10
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s s
FaTt Tt
®) ®
TR 50,400 13,700
HeeT IAR-Te1a i 10,000 20,100
Hferd i 12,000 62,600
ECIE 16,000
I 30,000 20,000
It 20,000
Bl 10,000 60,000
1,32,400 1,32,400

TEIEr ot Sgel! T SIS 1 A 4 TR ¥ <A T

(37) 9@ = T9aeT & T 18,000 H o foram |

(&) T A RH T 17,500 T o foTar T ieq o FHraR Sl e god W of forar |

(@) ©FERI ¥ T 60,500 U §U |

(%) SAKRI I YOT I TohaT T T agedt =49 3 4,500 9 |

el T, Aehg TIAT TAT WIRRT o Gl @I TR i |
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Bhuvan, Suraj and Ibrahim were partners in a firm sharing profits in the ratio of 3 : 2 : 1.
On 30™ June, 2014, they decided to dissolve the firm. Following was the Balance
Sheet of the firm on that date.

Amount Amount
Liabilities Assets
) )
Creditors 50,400 | Cash 13,700
Investment Fluctuation Fund 10,000 | Stock 20,100
Reserve Fund 12,000 | Debtors 62,600
Capitals : Investments 16,000
Bhuvan 30,000 Furniture 20,000
Suraj 20,000
Ibrahim 10,000 60,000
1,32,400 1,32,400

The assets were realized and the liabilities were paid off as follows :
(a) Investments were taken over by Bhuvan for I 18,000.

(b) Stock was taken over by Suraj for ¥ 17,500 and furniture was taken over by
Ibrahim at book value.

(c) 60,500 were realized from the debtors.
(d) Creditors were settled in full and realization expenses were < 4,500.

Prepare Realisation account, Cash account and Partners’ Capital accounts.

SN TAT STEIVT HT GHRISH & 99T 31 |, 2014 S <20, WA T IHF 6 Yoft @it §
AT T 3,20,000, ¥ 2,40,000 TAT T 1,60,000 T & | THh TLAT Tall Tl foh STt AT STE0T
TR AT FE AR AE |

e 31 T, 2014 S FHNG gT a9 & &9 T 90,000 T |

e TN H W A HE U J SR fohval H U AIE & 77 H T 48,000 hl TR0
fopam @ S99 3 T 60,000 T 3TEI0T R |

° 3T W 5% WY T F AT &A1 o1 q1 Ystt W 10% Wqad o 57 ¥ T 5
o |

o  WIEERI HT AN {9 A 3:2:1 T |
31O SHTIHRT OIS hl T I U Ueh ST IR WA Hitew |
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On March 31%, 2014, the balances in the capital accounts of Esha, Manav and Daman
after making adjustments for profits and drawings were I 3,20,000, ¥ 2,40,000 and
% 1,60,000 respectively. Subsequently, it was discovered that the interest on capital
and drawings had been omitted.

° The profit for the year ended on 31" March, 2014 was T 90,000.

e  During the year, Esha and Manav each withdrew a sum of ¥ 48,000 in equal
instalments in the middle of every month and Daman withdrew ¥ 60,000.

e  The interest on drawings was to be charged @ 5% p.a. and interest on capital
was to be allowed @ 10% p.a.

e  The profit sharing ratio of the partners was 3 : 2 : 1.
Showing your workings clearly pass the necessary rectifying entry.

ey feAfires wt siigd 9ot € 10,00,000 € ST T 100 Tedeh o Toam 379N o forvert & | ey
T ST T 84,000 3TN T MHFH 9T T e o1 u&aTd fhar | it e UsR 9 ST o

AT W- T 30 Wi 379T

e W- T 40 Wia 3i9T (it afea)

TIH qAT 3T o1 W= 3 50 Ui 3797

80,000 3791 % feTw 37res e U |

=7 T Bieht Tt AT U & 718

200 37T & TS YR, TG 3T qT AT 9T B P el e |

400 37¥T1 % TS YR, TRY = AT AT T AT &l {ha |

FHEAT 5 TG T IR & 3L BT 207 FHY 4T |

3k g &X0T fohd T 3791 ST T 80 Wit 39T YUt et g Fitea Y feam |

SR AT & (1T HHT 1 Wehg Fal T TSI H Hfefeat Hity | 8

Dogra Ltd. had an Authorised capital of ¥ 10,00,000 divided into Equity shares of
T 100 each. The company offered 84,000 shares to the public at premium.

The amount was payable as follows :

On Application — X 30 per share

On Allotment — X 40 per share (including premium)

On First & Final call — X 50 per share.

Applications were received for 80,000 shares.

All sums were duly received except the following :

Lakhan, a holder of 200 shares did not pay allotment and call money.
Paras, a holder of 400 shares did not pay call money.

The company, forfeited the shares of Lakhan and Paras subsequently, the forfeited
shares were reissued for I 80 per share fully paid-up. Show the entries for the above
transaction in the cash book and Journal of the company.

ar/OR
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HET e [Aes 7 T 10 UG% & 1,00,000 THAT WM BT 10% g O FET fmar =i T 2
3EET 9T, T 3 3MeeT W A T 2 AW q7 aH I Ui W ST 4T | 1,50,000 379 %
oI 3Tres U g 1 50,000 37T & STgehi Sl WE-U WSt ST T AT 3o T Mg T
YT |

TR, U SRTERE = 30 3,000 379N U 37ee TRT T PTa= =&t b, 39+ 39 iT
T A T AT o 91 Y TS |

Teh 3TUR, e, fSTaeh ar 700 3197 9, F <1 JraTeT Sl T T % e
<o |

T 3RTUR, T, ST I 1,000 3T 9, 7 YIq 94T ST A=A BT I ol
oA | 3Tk 3FeN T &OT A TR T | EOT TR T ST @l T 11 Wi 37T 9O e O
it &2 fear T |

SURIERT ST o T AT bt G&Aeh! | STEvgeh USHIHET Uiafeedt hiteig |

‘Kaya Fab Ltd.” issued 1,00,000 equity shares of ¥ 10 each at a discount of 10%
payable as ¥ 2 on application; ¥ 3 on allotment and ¥ 2 each on first call and final call.
Applications were received for 1,50,000 shares. Applicants of 50,000 shares were sent
letters of regret and application money was refunded. Madhur, a holder of 3000 shares
failed to pay allotment money which he paid along with the first call.

Rohan, a shareholder holding 700 shares paid both the calls along with allotment.
Sohan a holder of 1000 shares did not pay the first call and the final call. His shares
were forfeited. The forfeited shares were reissued at ¥ 11 per share as fully paid-up.
Pass necessary journal entries for the above transaction in the books of the company.

31 |, 2014 i 31 e fo=n o1 feafa-faeror =1 uer o -

. T o s
R ®) et ®)
TR 26,000 | 5% 20,000
FHEART Weex fAfy 16,000| ¥ 30,000
PR &AYTd AT 30,000| ITRR 44,000
TSt T ;. gad FON &
fwweaE 2,000 | 42.000
std 1,10,000 T T H=RT 1,20,000
IEE]] 60,000 1,70,000 | @t 20,000
AT @rr 10,000
2,42,000 2,42,000
14
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wﬂw%ﬁwaﬁmﬁ%wﬁﬁiw%%ﬁwmﬁw%aﬁmﬁﬁ%mw:

(30 % 2,900 % & T feIrad fohd ST |

@) foem 3 i H T 35,000 H S o |

(@) WH H TG A Gedid 3 40,000 a1 7T | Faedm S0 319 @ wAfa Wiem g
ISR I

® o STaiaes Ot o a9 |EERT S USi S GRS A & Osit o SR
W T T | 39k T fEfd STER WERR IhE T 3TET 3! AHE T
[CRIRICIN

AT Tl JT TTRIRRT % Ui T GaR i |

Following is the Balance Sheet of Amit and Vidya as at 31" March, 2014.

Liabilities Am;““t Assets Am;““t
Creditors 26,000| Bank 20,000
Employees Provident Fund 16,000| Stock 30,000
Workmen’s Compensation 30,000| Debtors 44,000
Fund Less : provision for
Capitals : bad debts 2,000 | 42,000

Amit 1,10,000 Plant and Machinery 1,20,000
Vidya 60,000 1,70,000| Goodwill 20,000
Profit and Loss Account 10,000

2,42,000 2,42,000

On the above date Chintan was admitted as a partner for 1/4 share in the profits of the
firm with the following terms :

Stock was taken over by Vidya at ¥ 35,000.
Goodwill of the firm was valued at ¥ 40,000. Chintan brought his share of

(a) ¥ 2,900 will be written off as bad debts.
(b)
(©)
goodwill premium in cash.
(d)

Chintan brought proportionate capital and the capitals of the other partners were

adjusted on the basis of Chintan’s capital. For this necessary cash was to be
brought in or paid off to the partners as the case many be.

Prepare Revaluation Account and Partners’ Capital Accounts.
Fgar/OR

15

[P.T.O.



YT, TG T eIl U ®F & WIERR & a7 A 50%, 30% 91 20% T ded o |
31 |, 2014 1 37! Fefa-fgagoer =1 yeere o

. for . T
et ot

® €4)
IGEEATY 34,000 | Tk 68,000
fos g 10,000 | ¥ 38,000

F7eeT Sa-geme iy 20,000 | TER 94,000

TSt T UEEe 6,000 88,000
RSl 1,40,000 e 80,000
oG 80,000 = 40,000
3,34,000 3,34,000

ST ot B HGX A STEHRT WeuT Tohar e Aeher qen eret 4 e ot W wH @l A
T 1 o forar

(37) Y @ @A T Godiwd T 1,02,000 AT TET qAT WYX o ST B @A BT GHAS BH
i =] Ta ATl BRI o6 Ysil @i | [ ST |

(F)  HHTR &Y o1 T 12,000 T 1 TS &l 4T q&T 697 B T 30,000 T HT HAT
T |

(@) T O % e W i T 2,000 T B AT S |

(@) TG T 20,600 HT T PIA [HAT ST AT I Hl ITH H0T G H AR Y
feam ST, et A 31 SRIeR fRvat B 10% Wiaed bt 4TSt Y |ied fohar ST |

(@) AR qAT FETeT Pt ST T 39 AN U | THESTT fohar S | f5raes fo sid
T ferfa gRTr 91 A 1% AT QT 31 9 1 T fhar ST |

JHER @Il 9T FIERRT % YsT @ 7ar HifT |
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Lokesh, Mansoor and Nihal were partners in a firm sharing profits as 50%, 30% and
20% respectively. On 31" March, 2014, their Balance Sheet was as follows :

Liabilities A“zg;‘“t Assets A“zg;‘“t
Creditors 34,000| Cash 68,000
Provident Fund 10,000 Stock 38,000
Investment Fluctuation Fund 20,000| Debtors 94,000
Capitals : Less : Provision 6,000 88,000
Lokesh 1,40,000 Investment 80,000
Mansoor 80,000 Goodwill 40,000
Nihal 50,000 2,70,000| Profit & Loss 20,000
3,34,000 3,34,000

On the above date, Mansoor retired and Lokesh and Nihal agreed to continue on the
following terms :

(@) Firm’s goodwill was valued at the ¥ 1,02,000 and it was decided to adjust
Mansoor’s share of goodwill into the capital accounts of the continuing partners.

(b) There was a claim for workmen’s compensation to the extent of ¥ 12,000 and
investments were brought down to ¥ 30,000.

(c) Provision for bad debts was to be reduced by I 2,000.

(d) Mansoor was to be paid ¥ 20,600 in cash and the balance will be transferred to

his loan account which was paid in two equal instalments together with interest
@ 10% p.a.

(e) Lokesh’s and Nihal’s capital were to be adjusted in their new profit sharing ratio
by bringining in or paying off cash as the case may be.

Prepare Revaluation Account and Partners’ Capital Accounts.

HAT -9

(fawea-1)
PART - B
(Option-1)
(fareitar feraeutt &t faverom)
(Analysis of Financial Statements)

18. ‘iael M\’ U faxig SHHt & | =1e] a9 § T {ohd T Ueh 0T W ST & T i

YT 1 Toh Tffatyr o ST SRIET ST 2 1
(31 Frarer nidfafy |

@) fa<iig fafary |

@) fordra q°r vETer g idrarE |

@) U= Ty |
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‘Koval Ltd.” is a financing company. Under which activity will the amount of interest
paid on a loan settled in the current year be shown :

(a) Investing activity
(b) Financing activity
(c) Both Financing and Operating activities

(d) Operating activity

‘off fefiee fSootl T UohioWT o1 g Tl O a91 Ul oo o SO 3781 oY 3Teid
fepam | HEET 31O a1 faRaR AT dedl O q9T 39 ol 39 SifaRe fod @l
SMEATIAHAT oY | STIAT SATIHATST Bl T A o eI HHHT 5 T 30,00,000 F FHAT 3790
s o | g8 ¥ 20,00,000 H UH FHRIHd A 1 6T A1 | 387 T 2,00,000 H
YT BT e HTeT o WIRT | Te] 99 H BT 6B I o T 15,00,000 T |

ST TSl | TR TTareliedl gRT Uehg Jalle’ 37d Shifey |

‘Shri Ltd.” was carrying on a business of packaging in Delhi and earned good profits
in the past years. The company wanted to expand its business and required additional
funds. To meet its requirements the company issued equity shares of ¥ 30,00,000.
It purchased a computerized machine of ¥ 20,00,000. It also purchased raw material
amounting to I 2,00,000. During the current year the Net Profit of the company was
% 15,00,000.

Find out ‘Cash flows from operating activities’ from the above transactions.

(30  HEA! I, 1956 S e VI, 9T 1 & 3TER H=faiad A foh g ident qen
SU-3MehT % ST fefd faaror & swig SR 2

(i)  SrERIEAA T
(i) G IR
(iii) Z=ATH
(iv) 3o e

@) forira foeror favemor & =l 37 32941l Seoeid HieT |

(@) Under which major headings and sub-headings the following items will be
shown in the Balance Sheet of a company as per schedule VI, Part I of the
Companies Act, 1956.

(1) Long term loans
(i) Loose tools

(iii) Trademarks

(iv) Drafts in hand

(b) State any two objectives of financial statements analysis.

18
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oo

FrAfeiEd ot | el THTa-0T STUTd St T ST

4
fafrafsTe geit 25,00,000
foyerer 2,10,000
qm 8,50,000
T it 2,75,000
hg Td AHS o 1,50,000
AT ST ISt 14,30,000
8% SHOTTH 4,00,000
ot G 2,75,000
MM (GM-81 faraRoT 1 9) 1,50,000

From the following information, calculate Total Assets to Debt Ratio :

Capital Employed
Investment

Land

Trade Receivables

Cash and Cash Equivalents
Equity Share Capital

8% Debentures

Capital Reserve

Surplus i.e., Balance in statement of profit and loss

19

4
25,00,000
2,10,000
8,50,000
2,75,000
1,50,000
14,30,000
4,00,000
2,75,000

1,50,000

[P.T.O.
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FfeTa “Aferdr goiaei-og Taifiee” o Uy Feeme o1 | 98 SHT & [l 3Tesl o a9 oy
ARSI T T AT | 39 Aiaes STRENac & ® § o8 379 ST i go91d o § {avarg
TEAT 97 | 98 Ueh UHT Al o7 TG 3! hreedl aliehl 9 o) ol SUAR T ohi STeI9aehdl
H TEIHT | Al oiaiord feifdes’ &1 31 HIE, 2013 AT 2014 T THT §C a9t 6
A& T qorTcHe faaoT f TR & -

IEE) qMe | 2012-13 | 2013-14 e | % uRada
W) @ | "RE
)
T & ST 14,00,000 | 18,00,000 |  4,00,000 |  28.50
T : HHAN fedo™ =4 4,00,000 | 5,00,000 | 1,00,000 | 25.00
HT g AT 10,00,000 | 13,00,000 |  3,00,000 |  30.00
K @ 30% 3,00,000 | 3,90,000 90,000 |  30.00
HT T AT 7,00,000 | 9,10,000 | 2,10,000 |  30.00

(3T) 31 T, 2013 T 2014 H AN & AT a6 o {10 Y ST ST Sl TUFT ST |
(&) IR Rl J TS st It b ST et fohel <1 el bl Te s it |

Nishit was the Managing Director of ‘Lalita Electronics Ltd’. He had been earning
good revenues and profits for the company. He believed in giving respect to his
subordinates as his moral responsibility. He was the one who recognized the need to
find ecofriendly ways to treat waste. Following is the Comparative Statement of Profit
and Loss of ‘Lalita Electronics Ltd.” for the years ended 31" March, 2013 and 2014.

Particulars Note | 2012-13 | 2013-14 Absolute | Percentage
No. Change Change
®) ®)
®)
Revenue from Operations 14,00,000 | 18,00,000 |  4,00,000 28.5
Less : Employee benefit expenses 4,00,000 | 5,00,000 1,00,000 25
Profit before tax 10,00,000 | 13,00,000 3,00,000 30
Tax @ 30% 3,00,000 | 3,90,000 90,000 30
Profit after tax 7,00,000 | 9,10,000 2,10,000 30

(a) Calculate Net Profit ratio for the years ending 31* March, 2013 and 2014,

(b) Identify any two values which are being communicated to the society in the
above case.
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67/1

31 |, 2014 i I7 feafaes w1 fefq-faeror = yer o .

2013-14 | 2012-13
faawor
9 (9
[. QAT U7 AT
(1) ivrare fafiat
(2n) 3 i 40,00,000| 30,00,000
(CIEEERCICILCE! 10,00,000]  6,00,000
(2) 3= TTATE
T T 6,00,000|  4.00,000
(3) =T y
(3) AN SqAE 3,00,000|  4,00,000
(&)  TCIHIA T 1,40,000|  1,20,000
HeA 60,40,000| 45,20,000
1.  uRamtaat
(1) 3= gRawtaat
(37) T uRetaEt
(i) o oRemfaE 38,00,000/ 30,00,000
(i) o gt 9,40,000|  5,40,000
(2) e uREtEt
(31) Tk (W) 5,00,000|  3.20,000
(F) AR wit 4,20,000]  4,20,000
(F) hg AT AHE T 3,80,000|  2,40,000
el 60,40,000| 45,20,000
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i ¥ e

. - 31 3();014 31 3();013
1. | 999 wd ey
3R (G-I TaaxoT =1 o) 10,00,000 6,00,000
2. | CTIHTCA W
HT AT 1,40,000 1,20,000
3. | T uRewtaat
ENIEN 42,00,000 33,00,000
T e (4,00,000) (3,00,000)
4. | 3T uRgiaat
e 9,40,000 5,40,000

T=Teiad TaESHT 6 &= § W@ g UHE VaTe a0 R iy

Y % IRA T 40,000 AN i Teh HIMH, N9 U ThHId Joag™ < 30,000 T, Hf T 9,000 H
a9 oo T |

Following is the Balance Sheet of Sreshtha Ltd. as on 31* March, 2014.

67/1

Particulars l\li?;e 2013-14 | 2012-13
. ) ()
I. EQUITY AND LIABILITIES
(1) Shareholders Funds
(a) Share Capital 40,00,000| 30,00,000
(b) Reserves and Surplus 1 10,00,000 6,00,000
(2) Non-Current Liabilities
Long Term Borrowings 6,00,000 4,00,000
(3) Current Liabilities
(a) Trade Payables 3,00,000 4,00,000
(b)  Short Term Provisions 2 1,40,000 1,20,000
Total 60,40,000| 45,20,000
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11. ASSETS
(1) Non-current Assets
(a) Fixed Assets
(1) Tangible assets 3 38,00,000| 30,00,000
(i1) Intangible assets 4 9,40,000 5,40,000
(2) Current Assets
(a) Inventories 5,00,000 3,20,000
(b) Trade Receivables 4,20,000 4,20,000
(c) Cash and Cash Equivalents 3,80,000 2,40,000
Total 60,40,000| 45,20,000
Notes to Accounts :
S. No. Particulars As on 31-3-2014 | As on 31-3-2013
9 (9
1. [Reserves and Surplus
Surplus (Balance in Statement of Profit
and Loss) 10,00,000 6,00,000
2. |Short Term provisions
Provision for tax 1,40,000 1,20,000
3.  [Tangible Assets
Machinery 42.,00,000 33,00,000
Accumulated Depreciation (4,00,000) (3,00,000)
4.  [Intangible Assets
Goodwill 9,40,000 5,40,000

Prepare a Cash Flow Statement after taking into account the following adjustment :

During the year a piece of machinery costing I 40,000 on which accumulated
depreciation was ¥ 30,000, was sold for X 9,000.

HAT-TT
(fapeu-2)
PART -C
(Option-2)
(i sraie)
(Computerized Accounting)
18.  3Afyehict oiaish HOTelt 3 el § d1edd € 1
(37)  SAEHITH THGAT T [OPeTor qar STeiEH, dede, w-ei faeror o feafq-faeror
EEicill
(@) FET @i HUTeAT BT SATThTeT oi@ieh-T HoTett | ufee |
(@) TSR qd1 Heeaay |
® O U g, FHelueet a9 7= |
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67/1

The components of ‘Computerized Accounting System’ refer to

(a) Analysis and recording of business transactions, preparation of trial balance,
statement of Profit and Loss and Balance Sheet.

(b) Transforming manual accounting system to computerized accounting system.
(c) Hardware and Software.
(d) CPU, Keyboard and Mouse.

TS 2961 H YR i ST ool 7 “Thies” ol 31 &

(31) 2ot T ATk T |

(@) o B AT |
(@) T P &St uferT |
(®) A H MHR |

The term ‘Field’ as applied to database table means :
(a) Vertical column of the table.

(b) Name of the table.

(c) Horizontal row of the table.

(d) Size of the table.

2T ST SUANT ST §U “Sh-THTH [Teror I & TR0 T Sooid HiT |

State the steps to construct a ‘Bank Reconciliation Statement’ using Tally.

Teh FIIE & ST T 5T WA I TRIGTT @ D STEahel il & I” 59 (CAS) B
T} <t foRoaret st THSET S SHaHT i MUAIEdT i o1 @ § el id ¢ |

‘A business data needs to be guarded from its competitors.” Explain any two features
of CAS which help a business to maintain its secrecy.

1T & [T TRACeIoT | =1 31 9T o fafi= dwall sl TMT Shifeie |

Enumerate different elements of a chart or a graph in pictorial presentation of data.

T U U ‘o’ TS & TN ol feafay |

Write the steps to create a ‘Query’ in Microsoft Access.
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